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CIRCLES

Exercise 10 1 Fill In The Blanks

1. The centre of a circle lies in ........ of the circle.

(exterior/interior)


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_7gOtordQdq4c

° Watch Video Solution

2. A point, whose distance from the centre of a
circle is greater than its radius lies in ... of

the circle. (exterior / interior)

° Watch Video Solution

3.The longest chord of a circle is a ... of the

circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_7gOtordQdq4c
https://dl.doubtnut.com/l/_oCDopGgcPdwK
https://dl.doubtnut.com/l/_FhZrtU7CAXQo

4.An arcis a ........ when its ends are the ends of

a diameter.

° Watch Video Solution

5. Segment of a circle is the region between an

arc and ....... of the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_FhZrtU7CAXQo
https://dl.doubtnut.com/l/_Hz5OZC57ZW2D
https://dl.doubtnut.com/l/_60H6n94f1Yy8

6. A circle divides the plane, on which it lies, in

o Watch Video Solution

Exercise 10 1 True Or False

1. Line segment joining the centre to any point

on the circle is a radius of the circle

° Watch Video Solution



https://dl.doubtnut.com/l/_ncC0vPOiZuU1
https://dl.doubtnut.com/l/_cDaoJrT0xygU
https://dl.doubtnut.com/l/_kA8KecLsISis

2. A cirecle has only finite number of equal

chords.

o Watch Video Solution

3. If a circle is divided into three equal arcs,

each is a major arc.

° Watch Video Solution



https://dl.doubtnut.com/l/_kA8KecLsISis
https://dl.doubtnut.com/l/_qUBCWbHeFE3p

4. A chord of a circle, which is twice as long as

its radius, is a diameter of the circle.

o Watch Video Solution

5. Sector is the region between the chord and

its corresponding arc.

o Watch Video Solution

6. Acircle is a plane figure.



https://dl.doubtnut.com/l/_FOvO5NUqyImY
https://dl.doubtnut.com/l/_gb5N8XvSQPxK
https://dl.doubtnut.com/l/_ctu57cxpp6sP

o Watch Video Solution

Exercise 10 2

1. Recall that two circles are congruent if they
have the same radii. Proe that equal chords of
congruent circles subtend equal angles at

their centres.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_ctu57cxpp6sP
https://dl.doubtnut.com/l/_ZQGOLSdNL02O

2. Prove that if chords f congruent circles
subtend equal angles at their centres, then

the chords are equal.

o Watch Video Solution



https://dl.doubtnut.com/l/_ZQGOLSdNL02O
https://dl.doubtnut.com/l/_9tE8GpkZYBLb
https://dl.doubtnut.com/l/_MbaBBzjJRaLJ

1. Draw different pairs of circles. How many
points does each pair have in common ? What

is the maximum number of common points ?

— _ —— —_——

rs of ‘No. of

———
.

()OO o
(O]
| -
(9 =
(O o

o Watch Video Solution



https://dl.doubtnut.com/l/_MbaBBzjJRaLJ

2. Suppose you ar given a circle. Give a

construction to find its centre.

o Watch Video Solution

3. If two circles intersect at two points, prove

that their centres lie on the perpendicular


https://dl.doubtnut.com/l/_MbaBBzjJRaLJ
https://dl.doubtnut.com/l/_qcgzieaNhhma
https://dl.doubtnut.com/l/_b8VE5coiXQJQ

bisector of the common chord.

o Watch Video Solution

Exercise 10 4

1. If the radii of two circles with centres o and

O’ are 7 cm and 10 cm and the distance


https://dl.doubtnut.com/l/_b8VE5coiXQJQ
https://dl.doubtnut.com/l/_vTHTY02ct4th

between their centres is 12 cm. In how many

point do the circle intersect?

° Watch Video Solution

2. If two equal chords of a circle intersect
within the circle, prove that the segments of

one chord are equal to correspondig


https://dl.doubtnut.com/l/_vTHTY02ct4th
https://dl.doubtnut.com/l/_bUCoB6Dc1edg

segments of the other chord.

o Watch Video Solution

3. If two equal chords of a circle intersect
within the circle, prove that the line joining
the point of intersection to the centre makes

equal angles with the chords.

| e |


https://dl.doubtnut.com/l/_bUCoB6Dc1edg
https://dl.doubtnut.com/l/_IygiOJmb97T3

[ & Watch Video Solution I

4. If a line intersects two concentric circles
(circles with the same centre) with centre O at

AB,C and D), prove that AB = CD

° Watch Video Solution



https://dl.doubtnut.com/l/_IygiOJmb97T3
https://dl.doubtnut.com/l/_i9MHpBqbkN6J

5. Three girls Reshma, Salma and Mandip are
playing a game by standing on a circle of
radius 5m drawn in a park. Reshma throws a
ball to Salma, Salma to Mandip, Mandip to
Reshma. If the distance between Reshma and
Salma and between Salma and Mandip is 6 m

each, what is the distance between Reshma


https://dl.doubtnut.com/l/_k9bdUUtuq3iP

and Mandip ?

o Watch Video Solution

6. Three girls Reshma, Salma and Mandip are
playing a game by standing on a circle of
radius 5m drawn in a park. Reshma throws a

ball to Salma, Salma to Mandip, Mandip to


https://dl.doubtnut.com/l/_k9bdUUtuq3iP
https://dl.doubtnut.com/l/_m71WV6gbCFMl

Reshma. If the distance between Reshma and
Salma and between Salma and Mandip is 6 m
each, what is the distance between Reshma

and Mandip ?
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° Watch Video Solution



https://dl.doubtnut.com/l/_m71WV6gbCFMl

1. In the given figure, A, B and C are three
points on a circle with centre O such that
/ZBOC = 30° and ZAOB =60°. If D is a
point on the circle other than the are ABC, find

LADC.

o Watch Video Solution



https://dl.doubtnut.com/l/_tfFOD6QgUJlE

2. A chord of a circle is equal to the radius of
the circle. Find the angle subtended by the
chord at a point on the minor arc and also at a

point on the major arc.

o Watch Video Solution

3. In the given figure, ZPQR = 100°, where

P, 9 and R are points on a circle with centre O.


https://dl.doubtnut.com/l/_tfFOD6QgUJlE
https://dl.doubtnut.com/l/_5DnFF2RE0W24
https://dl.doubtnut.com/l/_KKj75SRxbJG7

Find ZOPR.
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° Watch Video Solution
4. In the given figure,

/ABC = 69°, /ACB = 31°,


https://dl.doubtnut.com/l/_KKj75SRxbJG7
https://dl.doubtnut.com/l/_HkCS4T3IqloD

° Watch Video Solution

5. In the given figure, A, B, C and D are four
points on a circle. AC and BD intersect at a
point E such that

/BEC = 130° and ZECD = 20°. . Find


https://dl.doubtnut.com/l/_HkCS4T3IqloD
https://dl.doubtnut.com/l/_mzR7kkM0l4at

/BAC.

° Watch Video Solution

6. ABCD is a cyclic quadrilateral whose

diagonals intersect at a point E. |If

/DBC = 70°, /BACis30°, find /BCD.


https://dl.doubtnut.com/l/_mzR7kkM0l4at
https://dl.doubtnut.com/l/_0yn2yZoPvfaR

Further, if AB =BC, find ZECD.

o Watch Video Solution

7. If diagonals of a cyclic quadrilateral are

diameters of the circle through the vertices of


https://dl.doubtnut.com/l/_0yn2yZoPvfaR
https://dl.doubtnut.com/l/_Q5Q02s4Gnw6b

the quadrilateral, prove that it is a rectangle.
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o Watch Video Solution

8. If the non-parallel sides of a trapezium are

equal, prove that it is cyclic.


https://dl.doubtnut.com/l/_Q5Q02s4Gnw6b
https://dl.doubtnut.com/l/_qS4NLfGNecLV

=T

° Watch Video Solution

9. Two circles intersect at two points B and c.
Through B, two line segments ABD and PBQ
are drawn to intersect the circles at A, D and P,

Q respectively (see the given figure). Prove


https://dl.doubtnut.com/l/_qS4NLfGNecLV
https://dl.doubtnut.com/l/_EvRpTh2AR1zA

that ZACP = /QCD.

o Watch Video Solution

10. If circles are drawn taking two sides of a
triangle as diameters, prove that the point of

intersection of these circles lie on the third


https://dl.doubtnut.com/l/_EvRpTh2AR1zA
https://dl.doubtnut.com/l/_8lz02DjONFv5

side.

° Watch Video Solution

11. ABC and ADC are two right triangles with

common  hypotenuse AC. Prove that


https://dl.doubtnut.com/l/_8lz02DjONFv5
https://dl.doubtnut.com/l/_d2gvwQcaYYkH

/LCAD = ZCBD.

D

° Watch Video Solution

12. Prove that a cyclic parallelogram is a

rectangle.

o Watch Video Solution



https://dl.doubtnut.com/l/_d2gvwQcaYYkH
https://dl.doubtnut.com/l/_sBmR9GzKSE3V

Exercise 10 6

1. Prove that the line segment joining the
centres of two intersecting circles subtends

equal angles at the two points of intersection.

o Watch Video Solution



https://dl.doubtnut.com/l/_TwE9tyU1KeSE

2. Two chords AB and CD of lengths 5 cm and
11 cm respectively of a circle are parallel to
each other and are on opposite sides of its
centre. If the distance between AB and CD is 6

cm, find the radius of the circle.
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o Watch Video Solution



https://dl.doubtnut.com/l/_Gdia8WXmrzOf

3. The lengths of two parallel chords of a circle
are 6 cm and 8 cm. If the smaller chords is at
distance 4 cm from the centre, what is the

distance of the other chord from the centre ?

C

o Watch Video Solution



https://dl.doubtnut.com/l/_Gdia8WXmrzOf
https://dl.doubtnut.com/l/_8QfKT5G93B11

Skill Testing Exercise

1. AB is a chord of a circle with centre o and
diameter 20 cm. If AB =12 cm, find the distance

of AB from O.

o Watch Video Solution

2. AB and CD are chords of a circle with centre

0. AB =48 cm and its distance from centre o is


https://dl.doubtnut.com/l/_8QfKT5G93B11
https://dl.doubtnut.com/l/_rWQifPnilNmM
https://dl.doubtnut.com/l/_iylkqCNAQfSp

10 cm. If the distance of CD from centre O is 24

cm, find the length of CD.

° Watch Video Solution

3. In a circle with centre O. AB and CD are
parallel chords lying on opposite sides of a
diameter parallel to them. If AB = 30 cm, CD -
48 cm and the distance between AB and CD is

27 cm, find the radius of the circle.

° Watch Video Solution



https://dl.doubtnut.com/l/_iylkqCNAQfSp
https://dl.doubtnut.com/l/_4AM43ylekmnX
https://dl.doubtnut.com/l/_wJPs9BCJTKTf

4, ABCD is a «cyclic quadrilateral. If

AD | | BC and /B = T70°, find the other

angles of ABCD.

° Watch Video Solution

5. In cyclic quadrilateral ABCD. Diagonals AC

and BD intersect at P. If
/DBC = 70° and Z/ZBAC = 30°, find
/BCD.

o Watch Video Solution



https://dl.doubtnut.com/l/_wJPs9BCJTKTf
https://dl.doubtnut.com/l/_nMusQEfbHutc

6. In a circle with centre O, AB is a diameter

and ABCD is a «cylical quadrilateral. If

/ADC = 140°, find ZBAC.

o Watch Video Solution

7. In the given figure,

/BCD = 43° and /BAFE = 62°. Find the


https://dl.doubtnut.com/l/_BhEMm2GRyB9p
https://dl.doubtnut.com/l/_s1hZ9DaMOsA8

values of a,b,c and d.
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o Watch Video Solution

Multiple Choice Questions Mcq S

1. In a circle with centre P. AB and CD are

congruent chords. If ANGLEpab = 40°,


https://dl.doubtnut.com/l/_s1hZ9DaMOsA8
https://dl.doubtnut.com/l/_wNVYX0Z9Dsjk

THEN ANGECPD = ...

A.40°

B.80°

C.100°

D. 50°

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_wNVYX0Z9Dsjk

2. In a circle with radius 5 cm, the length of a

chord lying at distance 4 cm from the centre is

B.6

C.12

D. 15

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_kk0mLjkREetg

3.In a circle with radius 13 cm, the length of a

chord is 24 cm. Then, the distance of the chord

from the centreis ......... cm.

A.10

B.5

C.12

D. 6.5

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_utBBlfjxfPbN

4. In a circle with radius 7 cm, the length of a

minor arc is always less than ... cm.

A 11

B. 22

C.15

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Upy4BEwhoBXx
https://dl.doubtnut.com/l/_H66qaJkvN9fW

5. In a circle with centre P, AB is a minor arc.
Point Ris a point other than A and B on major

arc iFANGLEapb = 150°. then ZARB =

A.150°

B.75°

C.50°

D.100°

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_H66qaJkvN9fW

6. In a circle with centre P, AB is a minor arc.

Point Ris a point other than A and B on major

arcAB.If Z/ARB = 80°, then ZAPB = ...

A.40°

B.80°

C.160°

D. 60°

Answer: C

O Watch Video Solution



https://dl.doubtnut.com/l/_H66qaJkvN9fW
https://dl.doubtnut.com/l/_WkvJStOGZKxd

7. In cyclic quadrilateral

ABCD, /A — ZC = 20°. Then,ZA = ..

A.20°

B.80°

C.100°

D. 50°

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_WkvJStOGZKxd
https://dl.doubtnut.com/l/_2hz4oVU4V2X3

8. In cyclic quadrilateral PORS, 7/P = 2/R.

A.20°

B.40°

C. 140°

D. 100°

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_wcDQ2wxpMXw1
https://dl.doubtnut.com/l/_2Os5wvVOZkve

9. The measures of two angles of a cyclic

quadrilateral are 40° and 110° Then, the

measures of other two

quadrilateral are ..........

A.400° and 110°

B.50° and 100°

C.140° and 70°

D.20° and 120°

Answer: C

angles

of the

° Watch Video Solution



https://dl.doubtnut.com/l/_2Os5wvVOZkve

10. In cyclic quadrilateral PQORS,

/ZSQR = 60° and ZQPR = 20°. Then,

C.80°

D.100°

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_2Os5wvVOZkve
https://dl.doubtnut.com/l/_HQdgJVuHCNls

11. In cyclic quadrilateral ABCD,

/CAB = 30° and ZABC = 100°. Then,

A.50°

B.100°

C.75°

D.60°

Answer: A

l o Watch Video Solution


https://dl.doubtnut.com/l/_HQdgJVuHCNls
https://dl.doubtnut.com/l/_zTap3Yk6hfHv

12. Equilateral A ABC is inscribed in a circle

with centre P. Then, /BPC =..........

A.60°

B.90°

C.120°

D.75°

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_zTap3Yk6hfHv
https://dl.doubtnut.com/l/_KsAJVbm4AuKG

13. A ABC is inscribed in a circle with centre o

and radius 5 cm and AC is a diameter of the

circle. If AB =8 cm, then BC =.......... cm.

A.10

B.8

C.6

D. 15

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_KsAJVbm4AuKG
https://dl.doubtnut.com/l/_JzvPGLwTOZCx

14. In cyclic quadrilateral ABCD,

/A =170° and /B + /X = 160°. Then,

B.25°

C.50°

D.130°

Answer: C

l o Watch Video Solution


https://dl.doubtnut.com/l/_JzvPGLwTOZCx
https://dl.doubtnut.com/l/_HH9qqC6UwZQE

Sum To Enrich Remamber

1. Give an arc of a circle, complete the circle,

° Watch Video Solution

2. If two intersecting chords of a circle make
equal angles with the diameter passing
through their point of intersection, prove that

the chords are equal.


https://dl.doubtnut.com/l/_HH9qqC6UwZQE
https://dl.doubtnut.com/l/_iWql0i0W0M4w
https://dl.doubtnut.com/l/_VtZMlKx5JTdg

° Watch Video Solution

3. In the given figure, AB is a diameter of the
circle, CD is chord equal to the radius of the

circle, AC and BD when extended intersect at a

point E. Prove that ZAEB = 60°.



https://dl.doubtnut.com/l/_VtZMlKx5JTdg
https://dl.doubtnut.com/l/_xV4VxXESehqe

° Watch Video Solution

4. In the given figure ABCD is a cyclic
quadrilateral in which AC and BD are its
diagonals. If

/ZDBC = 55° and ZBAC = 45°, find


https://dl.doubtnut.com/l/_xV4VxXESehqe
https://dl.doubtnut.com/l/_x0Npl588Pzu3

/ZBCD.

e

° Watch Video Solution

5. Two circles intersect at two points A and B

AD and AC are diameters to the two circles


https://dl.doubtnut.com/l/_x0Npl588Pzu3
https://dl.doubtnut.com/l/_p4pVzyAY8Etn

Prove that B lies on the line segment DC.

° Watch Video Solution



https://dl.doubtnut.com/l/_p4pVzyAY8Etn

